W chSolgeitol ok palof 2hsh SH AR [HX| HMesAMAl] <JHE 2023. 8. 1

HolM(ZSE 2% wmL| Yehol ulyTE
« MEIAT AlolE H1ERE M3EARI AT M2 ehch

>
SQIMAIMS AX|(2F) MM
SIMAIME MX|(213) Al
% FIZo| ApMERHS 91T KMSIAIY| B2k, [ o= siZEls Roll Y EE Bhch, (24)
HEHs e Hel Xz|7|zt 32l
OEE EED
Alpol  (F:4 MaiHS
A% EEEE
EN
@ 2ol % CEEREE
SRk TEE Aol 4
® A&l U= & ® A7 E [ ] a7
== = [ ] #d
® CHMA|MZo BF
@ Mo (M) sEfHS o =X}
EAEIZNFS H| k=3
=N PN REAVN BN MaH S
AN = MR|HY
T
=5t 2
EZ AR @ YUH UESE E2E37|
cm 72 cm X M2 cm
@ &=
(&5)
clsol2¢ 4ol oM atg|of st SEEHE |, HMoxAM3g 2 22 M AR H11=x=H 18
el (et 20| SHMAIME Fo Mx|(2ts)E(S8) Al ogh ot
4 o2 o
a9l (Mg == )
A H A =
AR E AL A 15
CiCr o o)
_ll:‘ Ooco T & AAD
BEMT e e
1. TSN BAIE | MAXH1E0| M2 ALAIMMAYJRT} RS FMAIM S| M
M (REAMY] AEE, AUEAZe M2 Y MAHN, E7He B, HAT L
#5T So| EAIE HE Lahch 18, ekZAldel Aols MAAD Al HEEH M
=9} ehalal 2ol e Zert M St
2. 'CiEo|2Yaol obMmalof B3 WY AIMTAE, x| MeEol2AAle oFMAIMS
of MAHMA 15, eiZAlTel APols Mx|LZ0| MxAT A9} Shalal Aot HE
shc
3. PEE Ao MERE So0| BEAE Ao HHET(2T, At 5 ofY AR Ba
Aldo| matE HEEE LEC) 18, gh@Alnel Aols MU0 MxAD A} | AMylebMEZH | _
ciabzl Aol ot & S ch shol Al RS
4. cizo|8YAol ohMmalof RHEH SWY | K 13xoI3H 180l w2 SpR|e) Al ol E S
A A2 S siujAlMIE S JlRle SHE £ Y ME 1R
5. TEv|obMmalY , M13EM1El w2 M7|oHMEZA BolM S Fy|Au|e| obMAIEH
S ZYWE £ Y= ME(DAILY, Msb. SIS, el ZolE Yl eS|
o FI=E Y, prsiTtE et seEtlch 18
6. 'CiZo|2YAol ohMmalof e S AlMPE | WX HE523MAS Tz

210mm X 297mm[ 24 A+X| (80g/m?) EE

(80g/m') ]



)

| oot

&of

lof EHer B2 2lo] MR, H36A1

5

il

prul
it

ol A HFXz|2t

0l
o

foF st

5

=
=

lo] 2 MRE H|

o
o

...
100
g

o
o

ol
i

u.
o

o
=

X

Hx|7t

OAl2

L

=]
=

o
2!

=]

o{£E olg|

5H
=

Aol =

tof M

Il

XMDE B

FAIZ| B e

5|

71 ol

°

ISAHE

<o
=<

o
A

A
g %

tel nej =27t St

2l 0|5

oM 3002t

oF
s

DS stA[Z] B

A
()

[=)

=

tof, Ax|7t

o

tofof

°

SHHAE S E MR

Hck.

o

0
Kl

tich) el b

sHS
==

H2z=of

=l
zl

4t

>

ol

A, AE JIE ME|Az2he =

29 Al

@2

[

[

@zl

3
1

H10z=

H

=

9|

HE 19 MS B2 Mo
AR

J

Mo
=0

| e A

gtof

k=3

M 4z=H1

d HM3z=oll w2t

]

[=]
>

Alg

H

=

1l

PSEIRSP

| EAt

_ll_
<
K
Pl

4

ol
@_.
K0
ol

I+

ol
Rr




